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R #81%118-5 AF 1 2(2) S26 2K 33.1 O
=B =F799-2 [ZEd 3 10 3,700 4,300 4, 900 5,500 S34 2K 28.0 O
% H=672-1 " 2 10 5,500 6, 300 7,200 8,200 S44 2K 32.3 O
KYRF#f B =1003-2 " 2 10 6, 500 7,500 8, 600 9,700 S46 3DK 37.1 O
Rt EE1 HE=638 " 2 10 5,800 6, 700 7,700 8,700 S47 2DK 33.3 O
ABEE2 H =638 " 2 10 7,100 8,200 9,300 10, 500 S48 2DK 39.9 O
HE H=625 " 1 2 8,700 10, 100 11, 500 13, 000 SH1 3DK 46.2 O
R ER] W= 638 " 1 5 9,100 10, 500 12, 000 13, 500 SH2 3DK 48.2 O
Rt A E4 JHE 638 g 4 8 15, 100 17, 400 19, 900 22,500 SH3 3DK 58.8 O
My TE] H=997 " 2 6 15, 400 17, 700 20, 300 22,900 Sh5 3DK 58.8 O
e TE2 H=997 " 2 6 15, 400 17, 800 20, 400 23,000 S56 3DK 58.8 O
My TES H=997 " 3 6 15, 500 17, 900 20, 500 23,100 SH7 3DK h8.8 O
=3 =3£800-3 " 4 8 15, 900 18, 300 21, 000 23,700 SH8 3DK 62.2 O
SA] I ATI%§295-14 " 1 6 16, 000 18, 400 21,100 23, 800 SH9 3DK 62. 2 O
HEE] WAR5T12-1 R 2 4 12, 300 14, 200 16, 300 18, 400 S61 3DK 61.2 O
FEEY MA512-1 XK= 4 8 14, 800 17,100 19, 600 22.100 S62 3DK 712. 8 O
HEES WAR5T12-1 " 4 8 13, 700 15, 800 18, 100 20, 400 S63 3DK 66.2 O
EAREI] HAR569 " 3 6 16, 000 18, 500 21, 200 23,900 H5 3DK 70.6 O
BEARE2 = A550-1 " 2 4 17, 400 20,100 23,000 26, 000 H7 3DK 75.0 O
BARES =A554-1 " 3 6 18, 600 21,500 24, 600 217, 800 H8 3DK 79.3 O
FErO =3169-1 " 3 7 18, 600 21, 500 24, 600 21,700 H8 3DK 79.3 O
BEAREL =566 " 1 2 19, 300 22,300 25, 500 28,700 H11 3DK 79.3 O
THEH #3$£388-4 " 2 4 19, 800 22, 800 26,100 29, 500 H11 3DK 79.3 O
BT e /53— " 3 6 19, 200 22,200 25, 400 28,700 H11 3DK 79.3 O
T E2 JHE /55 " 2 4 19, 400 22,500 25,700 29, 000 H12 3DK 79.3 O
() BHE2133-4 K3 2 2 18, 600 21,500 24, 600 217, 800 H13 3DK 14.7 O
|4 (B) BEH2133-4 = 2 2 19, 900 23,000 26, 300 29, 700 H13 3DK 79.9 O
() BHE2133-4 " 2 2 19, 900 23,000 26, 300 29, 700 H13 3DK 79.9 O
XA 1) K&A2182-5 AFE 1 2 15, 200 17, 500 20, 000 22,600 H10 2DK 59.6 O
KA (2) K&A2182-5 XK= 9 18 18, 400 21,200 24,300 27,400 H10 3DK 712.1 O
XA 3) K&2182-5 " 2 4 17, 800 20, 500 23,500 26, 500 H10 3DK 69.7 O
KA 4) KA2182-5 " 9 18 18, 600 21,400 24,500 217,700 H11 3DK 712.1 O
XA 5) K&2182-5 " 4 8 18, 000 20, 700 23,700 26, 700 H11 3DK 69.7 O
=) S10L143-9 17 4 4 19, 800 22,800 26,100 29, 400 H14 3DK 17.1 O
S (2) 51L143-5 " 3 3 20, 400 23, 600 27,000 30, 400 H16 3DK 78.0 O
=W (3) S10L143-5 17 3 3 20, 600 23,800 217,200 30, 700 H17 3DK 78.0 O
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